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33 D= JIsEs
s Dichsg He EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olch=e 1t 3,027,697 4,850,570 1,822,873
= 427,800
Jl 25,480
= 148,057
Al 2,426,360
Olcisg Dis2s 2,943,073 4,850,570 A1,907,497
= 427,800
) 25,480
= 148,057
Al 2,341,736
Olchse He 1,001,399 1,023,319 221,920
= 166,800
[ 34,450
Al 800, 149
HsFEHs X 17,000 22,000 25,000
= 5,100
Al 11,900
307 elztol & 17,000 22,000 25,000
= 5,100
Al 11,900
02 2B YA R E A 17,000 22,000 /5,000
OASHAB LS XA
8,500,000 x2H 17,000
= 5,100
Al 11,900
Arsgel(AsHE) JIzEs)Iz2ls X 12,400 29,000 16,600
= 6,200
s 3,100
Al 3,100
201 et 3| 10,000 29,000 19,000
= 5,000
= 2,500
Al 2,500
03 A= I 10,000 29,000 219,000
OtlAsZA(ASHE) JIxd=s)IEs 1T
29 400,000& 252} 10,000
= 5,000
= 2,500
Al 2,500
301 Eet2 NS 2,400 0 2,400
= 1,200
= 600
Al 600




SN Dl
33 D= JIsEs
s Dichsg He EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 2,400 0 2,400
QURsAA(ASHE) JIzgs) 2=
wNEY A 8,000 %30 x 102 2,400
= 1,200
== 600
Al 600
HEs)t s US 30,000 30,000 0
= 15,000
< 7,500
Al 7,500
301 EtEE S 30,000 30,000 0
= 15,000
== 7,500
Al 7,500
14 JIEt2 8= 30,000 30,000 0
O &aE W=H| 1,200,000 x5 52 30,000
= 15,000
= 7,500
Al 7,500
HSHE RAXNE A 265,000 215,000 50,000
= 132,500
= 19,875
Al 112,625
201 fer= 3| 161,000 86,000 75,000
= 80,500
= 12,075
Al 68,425
01 AtR2t2|HI 50,000 0 50,000
ONSAZNAME 2% U 22T 2
200,000% 502 10,000
= 5,000
= 750
Al 4,250
OEdAl 2112 st E2XE MH
20,000,000 *1IH 2 20,000
= 10,000
= 1,500
Al 8,500
OEdAl 2112 st 2H0IEHNHA, EEY
& HE S 20,000,000 *1IH 2 20,000
= 10,000
= 1,500
Al 8,500
03 A= 111,000 86,000 25,000




2A: Olisg
¥ D= Jl==E=
&2 OicHse e (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
osgal, sl S WA
5,000,000& 23] 10,000
= 5,000
= 750
Al 4,250
OsUIZIt AE2st WS
1,000,000 & *73] 7,000
= 3,500
= 525
Al 2,975
OdR=gol S22 sENMEUR
22,000,000 *10t& 22,000
= 11,000
& 1,650
Al 9,350
OtlAsel & ASHE Sl SAKIA
6,000,000& 23] 12,000
= 6,000
& 900
Al 5,100
OHsHEXNJHH 23
1,000,000 =104 & 10,000
= 5,000
& 750
Al 4,250
OUIHADE! ¥ & sFRAE 2
50,000,000 *1JH 2~ 50,000
= 25,000
& 3,750
Al 21,250
301 LB F 45,000 32,000 13,000
= 22,500
& 3,375
Al 19,125
11 HAIAHIXIAZ 3,000 0 3,000
OATFE0 U FSAE Sl #A 2AX
& 8,000& x/5H +53| 3,000
= 1,500
& 225
Al 1,275
14 J|Et2 43 42,000 32,000 10,000
OY&Al HAsHE SUHIEI 12
50,0002 *424 x6H = 1001 2 12,000
= 6,000
& 900

w
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2A:

X ZH -
o=

OlcH=& ot
Oli=sg D=2

&2lr OlcH=sgY g (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 5,100
OsZE0A 20t2I] H=Hl, Ot QIMEIE,
ol et
(400,000 *5Z+1,000,000& * 1 ) 61 & 18,000
= 9,000
= 1,350
Al 7,650
oAM= & YA =eiHl X
1,000,000& 129 & 12,000
= 6,000
= 900
Al 5,100
307 212t01& 39,000 57,000 18,000
= 19,500
S 2,925
Al 16,575
02 QA AAIEE X 39,000 57,000 18,000
OsEUA A0t2ED] M8 220t A
39,000,000 *10H 2~ 39,000
= 19,500
= 2,925
Al 16,575
401 AIEHIZL SR THY] 20,000 0 20,000
= 10,000
= 1,500
Al 8,500
01 AlIZHI 20,000 0 20,000
OA=sAEXNZEH c2ed
20,000,000 *10H 2~ 20,000
= 10,000
= 1,500
Al 8,500
s, AE KE 4,250 4,250 0
== 1,275
Al 2,975
201 223 4,250 4,250 0
== 1,275
Al 2,975
01 At22t2lt] 4,250 4,250 0
OAsHEL MEII=SE AAE 25 X
& 4,250 «100Z 1000 & 4,250
== 1,275
Al 2,975
HSXNZHE 2S 9,000 9,033 A33
S 2,700




SN Dl
33 D= JIsEs
s Dichsg He EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,300
201 er23y| 8,000 9,033 1,033
=S 2,400
Al 5,600
01 AtR2tc|Hl 4,000 5,000 21,000
OFAsAHHE 28 S22 NH & =28 +
24HI 200,000& x22]* 100 2 4,000
< 1,200
Al 2,800
03 A=Y 4,000 4,033 A33
OX=£g3 &AL, =&l Fot
4,000,000& *12] 4,000
= 1,200
Al 2,800
202 04| 1,000 0 1,000
< 300
Al 700
01 2LHoIH 1,000 0 1,000
O7Is7E g2+8 E304I
100,000« 1+ 1004 & 1,000
= 300
Al 700
HsHE S 3H 43,440 95,600 A52,160
201 ger=3| 1,440 1,200 240
01 At 2|l 1,440 1,200 240
Os =23 & 7Y XEAE AA
2 =g 180,000 4 & »23] 1,440
402 QI2F X201 & 42,000 72,000 230,000
01 QI X2 AL E A (KEMITHE) 42,000 72,000 /30,000
O7I=8d E=sJI8t &4
20,000,000 *27H 2=+80f% 32,000
OA=se AL I=sFE X
5,000,000 47 2+50% 10,000
SAsY 208 2¢ 15,000 15,000 0
201 =3 15,000 15,000
03 A2 I 15,000 15,000
OO0El0IsFHE stu 29
500, 000& *302] 15,000
CAsgEN Jls2Es 18,600 78,600 260,000
201 er2&| 2,600 20,600 18,000
01 At2teltl 2,600 2,600 0
OEA=g M2 18 2925 7
100,000 %102 1,000
O AN=sgEEI S UF e St
800,000 22 1,600
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FA: DisS
33 D= JIsEs
ol Oldiseg g (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 3,000 3,000
01 MHZH| 3,000 3,000
OSASYESI} DS M2 7
150,000& »203 3,000
301 EetE2 N = 13,000 10,000 3,000
11 #AIAHIXIE S 3,000 0 3,000
OEZAsgEEI UF LK 24
10,0002 %308 * 102 3,000
14 JIEt2 8= 10,000 10,000 0
OEANSYVEIL YLD DT 2 A
500, 000& *202] 10,000
SYHIOIIE & 2 326,240 141,240 185,000
101 @124H| 61,240 61,240 0
04 JIZtNZ22 NS+ 61,240 61,240 0
OsYHIOHLA 22| 212 61,240
oJlzs
2,190,240 «12&8+2, 190,240 ~86& 43,805
OFY+y
121,6803 x4+ 122 +121,6802 x4 2 +82 9,735
OJIE+E 40,0002 * 12 +40,000& ~8& 800
Og&E=Itd| 200,000 x2H*23] 800
O4ES JI2RE=23 200,000& »20E 4,000
OsHIOHZ 22| JIZtHZ22 X B &3
2,100,000 %1 2,100
201 er2 3| 30,000 30,000
01 AtR2telHl 3,000 3,000
OSHIOA 28 =3(HE S) 7Y
10,0002 *300% 3,000
02 s3=gbl 27,000 27,000 0
O=YHIOHIR AEEHl FX2=
2,000,000 %52 10,000
OASUHSI S A= 2
1,000,000& 128} 12,000
O=gHIOH T M==AY & 2l
1,000,0002 %52 5,000
206 M=l 25,000 25,000
01 MHZHI 25,000 25,000
OsYHOIA 2¢ MR (ME, =24 &)
10,0002 *55 10074 5,000
SHOHIT 22 M=
4,000 *505*1007H 20,000
401 Al HIZ S OHbI 210,000 25,000 185,000
01 AlZ2H| 210,000 25,000 185,000
Os=gHIo3a o3 2+
50,000,000 *4-1 2t 200,000
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OlcH=& ot

HE: D= JIS23
el Olchsdg He EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=HIDHIA AE RX E2
10,000,000& * 14 10,000
Hogs 4=t WS 31,000 25,300 5,700
201 er=23y| 4,000 4,000 0
01 AtR2t2|HI 4,000 4,000 0
OFAN=sSHESsE 88 =23
100,000& %105 1,000
ORlzs 4&st s ull & =5 7Y
10,0003 *20H +72] 1,400
OdMgs dest HFUT AR
800,000 22 1,600
206 M=l 9,000 9,300 A300
01 M=4l 9,000 9,300 A300
OX0gs West u=x M=
10,0002 %308 * 102 3,000
O=3t73| KNS M=
20,0002 *30E *102 6,000
301 EtE N = 18,000 12,000 6,000
11 #AIAMHIXIE S 6,000 0 6,000
ONgs 218 WS F44 24
10,0002 %308 203 6,000
14 0Bt 2a s 12,000 12,000 0
OIS dEd ux ME
500,000& »7 H*25 7,000
O=3t¢173] HHUE 2A=
500,000 %102 5,000
=t&AE 23 92,000 100,000 /8,000
206 MH=H| 42,000 0 42,000
01 M=4l 42,000 0 42,000
OA= 5,500& *4,000= 22,000
OUZUA 500,000& »20= 10,000
o= 50,000 »200= 10,000
307 elztol & 50,000 50,000
04 CIZHHAMAIH 2 & 50,000 50,000
O=3t&AIZ 50,000,000 = 1Al 50,000
ASANEEL 2 87,645 105,336 A17,691
101 21A4H| 44,145 61,836 A17,691
04 JIZtN2Z2 XS 2+ 44,145 61,836 A17,691
O=3stHEl =& 22| 44,145
OJlZ=s 2,190,240 x2&+x0E 39,425
OJE=g 40,0003 x2H 0= 720
OFEFIHI 200,000 x2H*13] 400
O4i2E JI2RY=
200,000 x2H+0Z 3,600
201 2= 5,000 5,000 0




od
i’
oF
uJ

=13
=

I
i

OlcH=& ot
D DicH=sY JIsE2

D Oli=sg D

2A:
X XH
o
&

e e S|18|° o] DS 3 318 e 8
[V leV) [e6) O | O || — N~ [V NeV} (@)
= gl = Sl|lo|— o NN S
Klo <
E
E=)
8 2818 28|18 e 8|2 S e 288 °
O Yo BYe] [N NN Ne) 3| O | © (aV] (@ Ne)
o 3|5 S| | o o |o | ~ NN
L&
<
RIS
8 S8 2181818 S 8 S SI1XFIT & S 8838888 & 8 81818 S8 [NS8 8
(e} (@) Yol BYe} || |O S O O A Ol O M~ O© OO © ™M (@) (e} (@) O AN | AN AN | OO oo O
s olglg g|o|o|le o = “|g|2|s = SN oS © - o <|dld dld|lad d|S o
ar
<
=
i
Ko ol el W W W o o U ) o )
L Ny o = AU SRSV e S =
w b w S X PR X 3 S &
O ) ) O < — o
o 8 8 & & 8 T g == 3 FR ) S e
30 s 0 @ 00 & 5 g W P 5 T o o s
&l S = 8 s 8 oo o o 5 m 8 - o
- w0 —- o) - o ts) - —
. — W = =< o — A = m M m 2 &l Q o}
203 8 &8 > 2 <2 = * 0« pdl
@ - oD A I 8w OFJ o =
s <+ ol 40 L I N R 20
< H Kq &l 0 = H 50 Es) Kk =
~ X u < o 0 F o . . K oF o)
= OF = Ko o a5 ;I 4 or  OF o a0 A =
ol w 80 < hoo=< 0y H o R T <" o O
= = 0K 0 w5 u 4 of = = « = L
I Rt o Msls P 52 L |Hslzrc? sPoomse & F |slad |[wx 3=
. 30 B0 s i el 30 D80 ol md B0 of of of ar ok O RN O R|T O~|=
= |H < 2|3 2 MWlop|m 0 oy ® ® |ROlplm s~ R g dns JHT A W M |k DI
R fmo K0 (g K0 |S|Z|oF N [ M0 Mo B ok - W [ 00 OW<FD R R R |oHE B (B ax(Md
R |[=lE @ |sm|al|= 8 M3 & |glaajz A HDOO0O0KRKO O O |alza ||z bu|o
* o © S|z © W|l=|= © o © © H|l=|= © O o © © ol © — |- © <
z S S| =|gle S =|gl° o Sl S|~ =1
nJ (g}
I+ = =] Ho




2A:

OlcH=& ot

¥ D= Jl==E=
s Dichsg He EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 8,000
402 CI2ER=0lH 16,000 0 16,000
= 8,000
Al 8,000
02 QIZEXH2 A 22 (01 & &) 16,000 0 16,000
O AFEIIM S U a2 o
Z08 MY 16,000,000 * 10 2 16,000
= 8,000
Al 8,000
g D22 471,314 453,126 18,188
= 50,000
= 4,575
Al 416,739
NEX AMSAZ MAZSS(ASEZ MAH Z2ZAIY) 15,250 10,400 4,850
& 4,575
Al 10,675
307 212+01 A 15,250 0 15,250
& 4,575
Al 10,675
02 QIZHBAAIHE R 15,250 0 15,250
OZ=EE M2 8E ASTHE AIEAIY
5,250,000& *13] 5,250
= 1,575
Al 3,675
OH LSS S TIEWE AHAY
10,000,000 171 2 10,000
& 3,000
Al 7,000
Sk 88 Jlgtxd 229,854 166,854 63,000
201 Ler2 | 117,534 114,534 3,000
01 At 22|l 107,734 107,734 0
OMBE 52 3,000& *5,5004 Xt 16,500
OMBE ZH2I&Y U
400,000& %15.6ha 6,240
OMEBE SUDIIZA(01L=) HE
640,000& *15.6ha 9,984
OMEL 2 M=EN AZX CHEH
45,0003 *15.6ha*23| 1,404
OMBE == HN=HZ
150 *10,000m* 13 1,500
OMBE == =X
2502 *10,000m*23] 5,000
OMELE OIMHE AIESEY
50,000 *15.6ha* 13| 780




2A: Olisg
ZH: Olghsg Jle23
=l SHE JIsEs (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OMBE HollSLHZ HaH
100,000& *15.6ha*23| 3,120
OMZE =gp2lxe
21,00021%1502 3,150
OMEE 22 U 2urxe! (st
760,000& *15.6ha 11,856
OMEE JISZ01&Y el
400,000& *15.6ha 6,240
OH SXIHESE LXt=
2,100,000& *15.6ha 32,760
SNHEEL HE 40,0003 =304 1,200
ONMBE, TNy 2YSE 7o
400,000& x20& 8,000
2 ZZ2H| 9,800 6,800 3,000
OET2Y ALTH RTB4
4,000,000& 23] 8,000
ozk=d LdAEGHI 150,000& * 12& 1,800
206 =4I 112,320 51,320 61,000
01 M=l 112,320 51,320 61,000
sENSI|2H SR 7Y
30,000,000 & +33! 90,000
OH BEXMMBE 2EME FL(Hlg, =%
) 200,000& *15.6ha*6S 18,720
O3y HXI| RFHI
9002 *2,000 £ *23 3,600
IAUI HIOIHAREET A 524 29 125,310 119,772 5,638
101 eI t| 71,360 59,222 12,138
M IIRHMZ2Z2 RS2+ 71,360 59,222 12,138
OZZUH2F BIOIHASEHE MAiotRA 29
AL Q14| 90,000 x4 *24 8,640
OXZZHH2F HIOIHASRHE Mok GIRA 2
d B oAl 57,920
oJlEs 90,0003 x2F 26+ 12 56,160
OE==< 40,0003 =2F* 123 960
O E St 200,000& 2F +23] 800
O4HEE J&ARYS
200,000 x2F*12& 4,800
201 B2 AL| 29,000 28,600 400
01 AtR2eltl 5,400 5,000 400
OZXEHIS HIOIHASRHI Mat 5IRA 2
I =E Y 150,000 *125+32] 5,400
02 33=24H| 23,600 23,600 0
OZXZTHISF HIOIHASHR Mat GtSA &
e 400,000 122 4,800
OZZEHSF HIOIHASRHT Mot GIRA &
e == 600,000& =123 7,200
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33 D= JIsEs
Selr SIHE D23 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZMNL BI0AATHR Mok A Y|
FH 1,600&*1,0002| &4 1,600
OZXXUHS BIOISIAREHR Aok tRA Al
2384 =X & 2= 5,000,000& 22 10,000
206 M=l 24,950 28,950 4,000
01 M= HI 24,950 28,950 24,000
OZAH HIOIHAARHE Mo e 2
120,0002* 10543 4,800
OZZUY HIOIARHR MAS NE 7
= 8,000& *1,300L 10,400
OXZlbHer BIOIHARERE ZER PY
1,300 +7,5005 9,750
SAOHE20F s E EOte 900 900 0
201 =3 600 600
01 At22telt] 600 600
OSTOHZ=20F s & Eotal XtEaxt
600,000 *1CH 600
301 EtE N = 300 300
4Bt 2 a3 300 300
OZBXINLZ0F nE ZALE
300,000& %1 300
= J4HA Dz 100,000 0 100,000
= 50,000
Al 50,000
402 BIZtAH=01A 100,000 0 100,000
= 50,000
Al 50,000
02 DIZHAHE A2 X (01 & TH2) 100,000 0 100,000
OAYNS FBRD U IIBE 25 X S4
& AHS 100,000,000 *19H 2 100,000
= 50,000
Al 50,000
Hegs J=XE 1,470,360 3,302,145 1,831,785
= 211,000
) 25,480
< 109,032
Al 1,124,848
AXN=S dEFH X 12,740 12,740 0
Jl 12,740
206 M=l 12,740 12,740 0
Jl 12,740
01 MZH| 12,740 12,740 0
OsiHlE MSJIE & 0188 &2
a3 M= 127,400« 1074 =102 12,740
Jl 12,740
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2A:

OlcH=& ot

33 D= JIsEs
gelr wstds D=k (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WS EsHEIISXNH(FaD|=) 10,000 10,000 0
= 5,000
Al 5,000
206 M=l 10,000 10,000 0
= 5,000
Al 5,000
01 M=4l 10,000 10,000 0
OFBF=ABRIA 2% Y2
1,000,000 105 10,000
= 5,000
Al 5,000
sH)|ede sge4d 29 N3 32,000 32,000 0
= 16,000
Al 16,000
201 Ler23 | 17,900 12,600 5,300
= 8,950
Al 8,950
01 Al 22| 12,600 10,800 1,800
O0ZEEN 2HSE 7Y
1,375,0002 x4 2] +25 11,000
= 5,500
Al 5,500
OS+=AdZH NI 200,000 +8¥ 1,600
= 800
Al 800
02 S3=gl 5,300 1,800 3,500
OEst2A ANEEH SN2+
2,650,000& *22] 5,300
= 2,650
Al 2,650
202 04| 1,500 1,200 300
= 750
Al 750
01 2LHoIH 1,500 1,200 300
OEZHEE AN=MHH SH0I
30,0003 x2& #2535 1,500
= 750
Al 750
206 M=l 9,600 6,400 3,200
= 4,800
Al 4,800
01 M=4l 9,600 6.400 3,200
OTEEAE JHA(0lZ2ItA 8) 7
100,000& *30& 3,000




2A:

OlcH=& ot

B Dlelse Jl22a
gelr wstds D=k (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
Al 1,500
OZs2AE AHEEY S) 7Y
220,000 x65+53] 6,600
= 3,300
Al 3,300
405 KHaHE SH 3,000 11,800 /8,800
= 1,500
Al 1,500
01 AL =S F=HI 3,000 11,800 /8,800
OAle =2 2te 3,000,000 1CH 3,000
= 1,500
Al 1,500
s2 AJIE AME(ZAD1=) 260,000 400,000 140,000
= 130,000
Al 130,000
402 2I2F X201 & 260,000 200,000 60,000
= 130,000
Al 130,000
02 RIINEASEZ(0IETHR) 260,000 200,000 60,000
ODNEM el NS U RE L5 A
= 100,000,000 #2IH A 200,000
= 100,000
Al 100,000
OJ|=dzlls 222 A2 Jls Al
8 60,000,000 *1IH 2 60,000
= 30,000
Al 30,000
Zletd NEE FM4dN JeEs 77,000 42,000 35,000
< 33,000
Al 44,000
402 QI”F X201 H 77,000 42,000 35,000
= 33,000
Al 44,000
02 QI X2 AL EE(0IHTHE) 77,000 42,000 35,000
OJIsd LS42 WK &4SHY AKX
ARz 23 S2AHY)
90,000,000 *17H A+70/100 63,000
S 27,000
Al 36,000
ouJtE galzte| a8 g4 Ikl AY
20,000,000& *70/100 14,000
< 6,000
Al 8,000
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OlcH=& ot

33 D= JIsEs
gelr wstds D=k (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S¥sY sENE 243 N 18,440 23,700 25,260
= 5,532
Al 12,908
201 er2 3| 10,000 11,100 AT1,100
= 3,000
Al 7,000
02 S3=gHl 10,000 3,000 7,000
OmBIAs ANEFH SXBS
5,000,000& 22 10,000
== 3,000
Al 7,000
206 MH=HI 8,440 12,000 23,560
= 2,532
Al 5,908
01 MZH| 8,440 12,000 A3,560
OBSASAE HE| 2E 7Y
8,440,000 12 8,440
= 2,532
Al 5,908
tots 32 dss Mg 126,000 118,000 8,000
402 2I2FX=201H 126,000 118,000 8,000
01 QI X2 AL E R (KM THE) 126,000 118,000 8,000
OUIIE ICT, Al HE &4SAIE
20,000,000 *3JH 2=+70/100 42,000
OstesIt 54 243AE
20,000,000 *3JH 2+70/100 42,000
ORASIH T 2SAE
20,000,000:& 374 A+70/100 42,000
SIS oy g8 AlY 70,000 59,000 11,000
402 QI>F X201 & 70,000 59,000 11,000
01 QI X2 AL E A (KHMITHE) 70,000 59,000 11,000
OsLII=E edsY ASAY
20,000,000 *2JH 2=+70/100 28,000
OSLJEE ICT, Al HE ASAIE
20,000,000& 374 A+70/100 42,000
s8JI=8 sEXNE JIgtRd 120,000 1,742,000 A1,622,000
< 60,000
Al 60,000
405 AHAHE S 120,000 0 120,000
& 60,000
Al 60,000
01 It =S F=H 120,000 0 120,000
Ox=Z=43Hl ¢ 60,000,000& *25 120,000
= 60,000




2A:

OlcH=& ot

33 D= JIsEs
Rl e s JleXd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 60,000
dSMPMEBHAY 59,320 50,000 9,320
201 et 3| 8,200 11,859 A3,659
01 At22t2l] 8,200 11,859 23,659
Ou=s & s 28=3
50,0002 * 10522 1,000
O M Xl = 30,0003 x40 +23] 2,400
O HE XISt 800,000 *62| 4,800
206 M=l 13,200 23,080 9,880
01 M=8l 13,200 23,080 29,880
(O =Ft= )\ =R
16,0002 x52] 40 3,200
OF0E SAES M=7Y
1,000,000& 105 10,000
301 EtE N = 9,920 9,920
11 #AIAMHIXIZ S 1,920 1,920
OBFE S BAXSA
8,000 »62| *40H 1,920
14 0Bt 2a s 8,000 8,000 0
OLSu= Al 400,000 x20H 8,000
402 QIF X201 & 28,000 28,000
01 QI X2 AL E A (KHHITHE) 28,000 28,000
OY3t= A5 e 4SAY
20,000,000 *2JH 2=+70/100 28,000
detdsatde|dd 29 59,080 60,020 2940
101 @1A4H| 32,480 31,420 1,060
04 JIZtNZ22 XS 2+ 32,480 31,420 1,060
OFdtacld 2g 22| 32,480
OoJlzs 2,250,000« 1& 128 27,000
OJ&E=g 40,0002 x1&* 122 480
OE &=l 200,000 x12H 23] 400
O4li2E JI2RY=
200,000« 1H =122 2,400
OJIHNZ22X &&=
2,200,000&x1H 2,200
201 er23 | 8,600 8,600
01 At2teltl 7,000 7,000
Ot JudH 2H==
100,0002x105+12] 1,000
Oxz7=2d =3 200,0002 %105 2,000
OFistate|dl, ZASSE2cld 2E=ES
400,0002 %105 4,000
02 S5=2g4l 1,600 1,600 0
O=4t2e|d, ZAIRSE2 A A EY]
== 400,000 =4CH 1,600
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206 M=l 10,000 10,000
01 MHZH| 10,000 10,000
ORI HE(XEHIE &)
1,000,000 *3KIE 3,000
Oxz7=2¥ M= 1,000,0002+35 3,000
OxZAMESE2AY 2 M=
500,000 *85 4,000
405 AHaHE S 8,000 10,000 22,000
01 AL =S F=HI 8,000 10,000 /2,000
OzlstZFotae|a AdEH|
4,000,000 *25 8,000
SD|=20F s & SEAE 21,200 13,220 7,980
201 fet=23y| 10,000 5,300 4,700
01 AtR2te|HI 10,000 5,300 4,700
Ou=x % &g =3 20,0002 10553 1,000
O8=+% & E2= AH
50,000& 25 +102] 1,000
OsZAZ ISt 800,000 %102 8,000
301 EtE N = 11,200 7,920 3,280
11 #AIAHIXIZ S 7,200 3,920 3,280
OFSE us FHA 84
8,000 %508 x 102 4,000
oA FAL =4
8,000 *408 x 102 3,200
14 IIEt2 83 4,000 4,000 0
O NE A= 400,000 *10H 4,000
=le 2803 28,670 95,000 66,330
101 @12A4H| 5,670 0 5,670
04 JIZtN2 2N S 2+ 5,670 0 5,670
OXAZ SSHIWE 22 LAIASE QI ¢l
rals]l 90,0003 »3& *21 5,670
201 2= 9,800 9,800
01 AtR2t2lt] 9,800 9,800
OZAME SSHIwE |
2,000,000& 22 4,000
OXZAMNE SSHILE 2HEE
50,0008 10523 1,000
OxAE 24 ZHEE EZuUF IS
600,000 +82] 4,800
206 MH=H| 5,000 5,000
01 MHZHI 5,000 5,000
OZXAE ZZHILE LMW (HIZ, =9,
BX S) 500,000& x65+23] 5,000
301 LEtE N = 8,200 8,200
11 #AIAHIXIZ S 3,200 3,200
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OZANE 24 A8E AT 24
8,000 *40& x 103 3,200
14 DBt 2 a3 5,000 0 5,000
OZX Az 24 HEE A=
500,000 %10 5,000
S==Ag I3 SN 15,000 16,750 AT50
206 M=H| 15,000 0 15,000
01 MHZH| 15,000 0 15,000
OHBAEN AZATAY W27
1,000,000& 155 15,000
S OtE Mo PLSSHE A A8 ALY 15,000 20,000 25,000
= 4,500
Al 10,500
201 et=2 3| 10,200 9,400 800
=S 3,060
Al 7,140
01 AtR2t2|HI 7,400 6,600 800
OPLS 22=& M 2,000,000 *35 6,000
< 1,800
Al 4,200
OPLS 22 H= M 200,000 #33] 600
= 180
Al 420
OFLS SE2Y MFES 200,000 <42 800
=S 240
Al 560
2 S52g4l 2,000 2,000 0
OSAE OHEMA FI|4H
2,000,000& %12 2,000
= 600
Al 1,400
03 A= SHI 800 800 0
OPLS WF2E 200,000 43 800
=S 240
Al 560
206 M=l 2,800 2,600 200
== 840
Al 1,960
01 MZH| 2,800 2,600 200
OUFY LM SEMR(AIY)
280,000 x65+23] 2,800
= 840
Al 1,960
301 EetE NS 2,000 2,000 0
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Rl e s JleXd (Gt H2)
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< 600
Al 1,400
4 J|EH243 2,000 2,000 0
OPLS w=F A= 500,000& 42| 2,000
= 600
Al 1,400
Sgddd =29 100,000 71,440 28,560
201 fet= 3| 20,200 15,640 4,560
01 AtR2te|H] 10,400 10,400 0
OZEHIY 28 25(NESE, A3 S
) 300,000& »22|*45 2,400
OMEA HY OIFE
4,000,000& 1] 4,000
OMBA NEE =X
2,000,000& *23] 4,000
02 S3=gHl 9,800 5,240 4,560
OHl%Xel 1,540,0002 %52 7,700
ORHE 8=C& ZH 1,080,000 22 2,100
206 MH=H| 13,800 15,800 22,000
01 MZH| 13,800 15,800 A2,000
oltP A2F 2,000,000& x12]+25 4,000
OELAE MI(0t22IA Al ) 7
320,000 +52]+55 8,000
ONZ4&I| A2F 900,000 *12]*x25 1,800
405 AHAHE S 66,000 40,000 26,000
01 AL =S F = 66,000 40,000 26,000
OXtS pH/ECEA DI 66,000,000 1CH 66,000
slgtgdsgusta 24 226,500 234,150 AT,650
201 er2 3| 105,150 102,800 2,350
01 AtR2telHl 13,250 15,450 A2,200
OREld=s d& & 28=5 78
100,000 x305+23] 6,000
ORE0I4= ZAHI
500,000 x65*22 6,000
OB =P uret 2 I=H|(HY s, oHES}
s) 250,000 6% 1,250
02 S3=gl 91,900 87,350 4,550
Ozt Bsgustat Sh2d, Asdtisis
# MRS 6,300,000& «12& 75,600
Ozlstdsgutsta, ST2d, ASdEsts
B sk 23 450,000 <123 5,400
ORES0IY= HHEALEH RX 2=
800,000 * 125 9,600
OzletZsgusrat =83 34 94|
350,000 *23] 700
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33 D= JIsEs
gelr wstds D=k (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 3,000 3,000 0
Ouslds W= A= 500,000 ~4H 2,000
OFMERS EATDT BAIR
500,000 22 1,000
402 2I2F X201 & 20,000 45,000 A25,000
01 I SASE X (RHMITHR) 20,000 45,000 /25,000
OzIgd =Y JIEtEd AlY
15,000,000 *17H A+80/100 12,000
OB EYZ2| ABAH
10,000, 0002 *1JH2+80/100 8,000
=2 Bk 53 40,000 40,000 0
= 20,000
Al 20,000
101 21AH| 26,400 0 26,400
= 13,200
Al 13,200
M ORNZZ2NSE S 26,400 0 26,400
Y] 244 JI2HH 22NHSE+
2,640,000 «1E 102 26,400
= 13,200
Al 13,200
206 M=l 13,600 12,000 1,600
= 6,800
Al 6,800
01 M=4l 13,600 12,000 1,600
OR&: 58 =8 950,000 42|25 7,600
= 3,800
Al 3,800
O%EZ A% 7Y
1,500, 0003 x22] <25 6,000
= 3,000
Al 3,000
s2 s Alg(nEtgs) 80,000 100,000 220,000
= 40,000
Al 40,000
201 et 3| 10,000 0 10,000
= 5,000
Al 5,000
01 At2t2lt] 10,000 0 10,000
O=8Ils DIM42 ZHE))
1,000&#5,000& 5,000
= 2,500
Al 2,500
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M Dih=sd D=2
Celr Wstds JI=kdE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=8Is DIMES HARY ADE
250,000 x105+23| 5,000
= 2,500
Al 2,500
206 =4l 10,000 0 10,000
= 5,000
Al 5,000
01 =Yl 10,000 0 10,000
O=&Jls DIME MAHIX ¥ B
2,500,000 *4& 10,000
= 5,000
Al 5,000
402 QI X201 ™ 60,000 100,000 240,000
= 30,000
Al 30,000
02 QIZEXH2 AL 22 (01 & &) 60,000 0 60,000
OB AKX MACH ZHS 98t Sein
clllE Alg 60,000,000 *1SHA| 60,000
= 30,000
Al 30,000
SUAYEAEN ELHEHl K& 12,740 0 12,740
| 12,740
206 =4l 12,740 0 12,740
| 12,740
01 =l 12,740 0 12,740
Ostetdlz MEJIE &4 OldHEE ELH
8 = 127,4002 *103|* 105 12,740
| 12,740
SesI REOMS Madg TR 20,000 0 20,000
& 6,000
Al 14,000
201 B2 AL 9,000 0 9,000
T 2,700
Al 6,300

01 A=R2teld| 9,000 0 9,000

OREINE ZZZAN ¥ W=S2Y
150,000& 65+ 102] 9,000
= 2,700
Al 6,300
206 =8l 11,000 0 11,000
& 3,300
Al 7,700
01 =8l 11,000 0 11,000
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